9 g ¥ ) Z 1

¢ ='G0c | % =°®0TT 9 =001 "¢ = %101 IPlOL | % =°%0002 .

S.

i='0e01 | JIPIOL | °

ETI00T | &¢ = ®ger S¢ = Y1082 B¢ = 00T |.

.
n"

.
n"

YO00T | 2¢ = 0102 |8 = SOg0T | 8¢ = 49G ¢

'0E0Z | IPIOL -

.
n"
.
n"
.
n"
.
n"

5 = 199 |8

.
n"

€122 IPIOL | %¢ = LGET % = STIT % = B04T .

0.
"

% = STTIT | 8¢ =80T | %€ = %8L | dPIOL %€ = E112T "¢ =21101T |«

8GET | cc=ve2r | % =9GG | '¢=910v S¢ = €122 |5

0.
"

IPior | ¥

'sJ2|21ds1IW S2p 2ss1uqabu] 21p L10|qsbunso] wap Liw J2apafl 1u21]|04Luoy 2puUl] Wy 4
1,0bu1g” :14nJ yoy 2|puoboIq J2p0 210dS 2|17 J2UID Ul JIP|24 2PUIBUDYUIWWDSNZ JIIA JDLSUT] S|D JIM '€
Sy = p+GE=61=62+1 =€102 :[dsiag
(‘'U|2440M S|DWY20U PUn UJ213JDW P|24 '1qoYab ¥on|9 np 1Sy JaXO[ Wau12 12g)
iu12 2quD4 J2uI2p Ul S1uqabu] sop abb.y pun (¢41D|qua1WYIS) SaP|24 Uapua}iaulaq sap agqobiny aIp 2507 ‘2
‘JJIMYIOH UDP 2L12MZ 42D 'UD JUIMSLY22Y UP 4q1D JINAA 24542 J2D :[DWIAMZ I|JINM T

(jwn awaysAsuajyoz aJapup Ul auyday) WU ._.ws»w:N_IUN




g

¥

=014 ‘08 Spi1 Y1001 JIPIOL 0€1
S€0€ IPIoL | °00TTT t0o12¢€ 52021 €001 T
%001 | °IOOITT | %12 i {e S0€0T | ¥Plor
5eg 10€ IPIOL €02 ITIIT ovv
021 €2212 GG T IDIOL 00T 2T
Aplor | IETI 201 °IT000T | 'r12I1 ‘001

INNSO

2WwaysAsua|yoz




